
Installation Instructions

Kit Contents   PRN014618

1 x Reflector Kit A

2 x M5 x 16mm Black Button Head Bolt B

2 x M5 x 10 C/Sink Screw C

2 x Indicator Clamp PlateD

4 x M6 Flange Nuts E

4 x Large Top Hat Washers F

4 x Small Top Hat Washers G

4 x M6 x 16 Black Button Head Bolt H

4 x Indicator Clamps I

8 x M5 x 12mm Black Button Head Bolt J

10 x Cable TiesK



1Installation Instructions



2Installation Instructions



3Installation Instructions



4Installation Instructions



5Installation Instructions



6Installation Instructions



7Installation Instructions 7



8Installation Instructions



9Installation Instructions



10Installation Instructions



11Installation Instructions 11



12Installation Instructions



13Installation Instructions



14Installation Instructions



15Installation Instructions



16Installation Instructions



17Installation Instructions



18Installation Instructions



19Installation Instructions 19



20Installation Instructions

I

Repeat

Both Sides



21Installation Instructions

D

Repeat

Both Sides



22Installation Instructions

Caution

Ensure the insert is facing 

the indicator when assembled

Repeat

Both Sides



23Installation InstructionstionsI

Repeat

Both Sides



24Installation Instructions

Repeat

Both Sides



25Installation Instructions

Repeat

Both Sides



26Installation Instructions

Repeat

Both Sides

B



27Installation Instructions

Repeat

Both Sides



28Installation Instructions

Repeat

Both Sides



29Installation Instructionstion Instruc

Repeat

Both Sides

J



30Installation Instructions

C



31Installation Instructions

Repeat

Both Sides
Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



32Installation Instructions

Repeat

Both Sides Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



33Installation Instructions

Repeat

Both Sides Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



34Installation Instructions

Repeat

Both Sides



35Installation Instructions

Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



36Installation Instructions

Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



37Installation Instructions



38Installation Instructions



39Installation Instructions

OEM PARTOEM PART

OEM PARTOEM PART



40Installation Instructions

Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



41Installation Instructions

Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



42Installation Instructionstions



43Installation Instructions

J



44Installation Instructions

J



45Installation Instructions

J



46Installation Instructionsnstruc



47Installation Instructions



48Installation Instructions



49Installation Instructions

OEM PARTOEM PART

OEM PARTOEM PART

OEM PARTOEM PART



50Installation Instructions



51Installation Instructions

Feed cable tie through tail tidy

so the head sits inside the 

slot on the outer face



52Installation Instructions



53Installation Instructions



54Installation Instructions



55Installation Instructions



56Installation Instructions

E

F



57Installation Instructions



58Installation Instructions



59Installation Instructions

G

H



60Installation Instructions

G

H



61Installation Instructions



62Installation Instructions



63Installation Instructions



64Installation Instructions



Installation Instructions

Reverse Stages

3 - 1



Installation Instructions

After installation of your tail tidy ensure that the licence 

plate does not contact the rear tyre when 

suspension is fully compressed.

Ensure all electrics including indicators, tail light, brake light 

and licence plate light lights are working correctly 

before riding the motorcycle.

It is recommended that periodic inspections are made 

to ensure that all fixings are fully tightend. 



Installation Instructions



Installation Instructions


